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T = 20194 20204 20214
Al 3,890 3,580 3,326

o 4 1,868(48%) 1,711(47 .8%) 1,601(48.1%)
g 4 2,022(52%) 1,869(52.2%) 1,725(51.9%)

HESANE 0IE0tS

O Ar&d==oll Xt (ehel © &)
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Al 3,890 3,580 3,326
o 4 1,868(48%) 1,711(47.8%) 1,601(48.1%)
g 4 2,022(52%) 1,869(52.2%) 1,725(51.9%)
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1,859(47.9%)
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O AR 23IR (Sl o)
2 e 2019 2020 20214
p] 3,823 3,571 3,317
o 1,873(49%) 1,714(48%) 1,603(48.3%)
o o 1,950(51%) 1,857(52%) 1,714(51.7%)
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2 s 20194 2020 20214
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A 1,787 1,373 1,113
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AP DI2E © 202280101 ~ 20269 12831
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XM E 45,0008 &

O AMgUE Fo2aa2d 23
[0 XA CHat At
O HamMyg =¥
YHAFEHMETIAY HYLE ALY XXl RIS 3 ALY
O
O &2 (e & &)
N & g Ol Ak K HdEE D=0 AN Hus2 SLE
Al 45,000 43,900 1,100 2.51%
Ol & Z Al 45,000 43,900 1,100 2.51%
KEXITH & 45,000 43,900 1,100 2.51%
O 49 =6l&4
O /\PEEH/&FXF (9-?4 CH)
- = 20194 20204 20214
Al 6,870 4,289 3,880
o 4 3,338(48.6%) 2,233(52.1%) 1,859(47.9%)
g 4 3,532(51.4%) 2,056(47.9%) 2,021(52.1%)
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7 = 20194 20204 2021¢
Al 0 144 86
o o 0(0%) 62(43.1%) 38(44.2%)
g 4 0(0%) 82(56.9%) 48(55.8%)
xEyHA2 ol2L =
O a2 CEREE
Sl -~ 20194 20204 20214
Al 83,252 33,716 43,900
o o 0(0%) 14,517(43.1%) 19,398(44.2%)
g 4 0(0%) 19,199(56.9%) 24.,502(55.8%)
H2020E@ MR = 224N, 202182 G E0&
0 dgAX |zEA
gz 2d 0181 MO MY E0IE2 d8A3AX Ha 88
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FHZed 082S
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7= 20194 20204 20214
b 3,823 3,571 3,317
o & 1,873(49%) 1,714(48%) 1,603(48.3%)
SIS 1,950(51%) 1,857(52%) 1,714(51.7%)
# 012101 % 0l Z0FS % (2HOH ~OI5Al)
O A5k (crsl + o)
7= 20194 20204 20214
b 460 758 871
o & 223(48.5%) 341(45%) 410(47..1%)
g o 237(51.5%) 417(55%) 461(52.9%)
#2DYO201E 0l S XK= (LION~B5AI)
O o7 L)
2= 20194 20204 20214
p] 240,000 380,000 240,000
o & 116,400(48.5%) 170,950 (45%) 112,974(47 . 1%)
o & 123,600(51.5%) 209, 050(55%) 127,026(52.9%)

2020 A= Z4aH, 202122 G0 &

SAE 0lS0ts dMIt AEUHAX0122 dE8AX A2 88
0O &34
du=SH(dUXEH) 202049 & &A 2021 =& X 20229 ==X
23EOUE0E O0I8E 10% 13% 13%

2T Y0201 Z0IZ0tS 4/ KO0l 2101 & 01 S 0FS 2100




NEOlsESHE2I 2 2 (LESIAH)
O AL R
O M2X @ NYNSEEHSIZ 2% NAS S8 oSl A&
O A I2F @ 20218013012 ~ 2025E 12& 31
O =T2H : OSSAY M50E L AIBYRISAE
O O & % : 285,404 &
JIZEXa 142,7028 3, 292X 3 28,5408 &, XAMI 114,162& &
O NPUE @ NAoSEsE2I|2 228 X2
00 AOIXI0 & CHAF AR
O HaAe 28
FHBSHYFTIANY HEASEIIAY XX € H S 3 A S
O
I Ol &4 o MUT SE 0oy HimEE) sus
pl 285,404 114,476 170,928 | 149.31%
Ol &H S Al 285,404 114,476 170,928 | 149.31%
X3 142,702 57,238 85,464 | 149.31%
EEEES 28,540 17,171 11,369 | 66.21%
KA TH & 114,162 40,067 74,095 | 184.93%
0 d8 =c6&E4d
O AITHA R (e9l : )
2 e 20194 20204 20214
p] 16,872 16,488 17,890
o 4 8,198(48.6%) 7.968(48.3%) 8.650(48.4%)
g & 8,674(51.4%) 8,520(51.7%) 9,240(51.6%)
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O Abe =6l Xt (&9 @ 9)
- = 20194 20204 20214
A 60 48 94
o & 24(40%) 22(45.8%) 33(35.1%)
g 4 36(60%) 26(54.2%) 61(64.9%)
& OloH ot S
O Has= (Gel - &)
- & 20194 20204 20214
Al 109,138 105,152 114,476
o o 43,655(40%) 48,195(45.8%) 40,188(35.1%)
g 4 65,483(60%) 56,957 (54.2%) 74,288(64.9%)

20209 tAl= B Ao,

20214

2 gx=0la

O 482X de24
ANE2GXE HHOIS022 S2AX AS
O dusH
SUSE(SUNE) 20204 AX 202149 =3F X 20229 S HEX
X 4828 ]
40% 56% 50%
(H&O0IERH/EHMOISR)
O 85 Jlladt
NeEO0tE25)2 22928 Sol sfigs orsAel UF




NEOotsHE 238 X3 (LEa )

O A2 @ 20228012012 ~ 2026E 12831
O =AH2H : OtsSSKE HS9E
O

Ol &b 9% @ 579,480& &
=12 XL= 289,7408 2, Z29EXL= 115,896 &, NMME 173,844& &

O AtdUE @ NY0tsSHEH AlE 228 & o2l K&

FHBSHAZTAY MY s ALY XX B R S ALY
O
H &g Off & oA HEE G0 A Hns2 SHE
Al 579,480 505,080 74,400 14.73%
Ol &F S | 579,480 505,080 74,400 14.73%
E = 289,740 252,540 37,200 14.73%
= 115,896 101,016 14,880 14.73%
KA TH & 173,844 151,524 22,320 14.73%
0 d8 s34
O At TH&a Xt (&9 - g)
T =2 20194 20204 20214
Al 12,009 11,824 12,107
G 5,843(48.7%) 5,716(48.3%) 5,883(48.6%)
g & 6.166(51.3%) 6.,108(51.7%) 6.224(51.4%)




O At ==dl Xt

S
T = 20194 20204 20214
Al 213 214 213
o & 108(50.7%) 105(49.1%) 107(50.2%)
g & 105(49.3%) 109(50.9%) 106(49.8%)
¥ =g, AR, OAE S SSHAHAS Ot
O a2 (&9 &)
- 2 20194 20204 20214
Al 484,065 505,080 505,080
o & 245,441(50.7%) 247,820(49.1%) 258,726(50.2%)
g 4 238,624(49.3%) 257,260(50.9%) 251,354(49.8%)
¥2020E MKl = Z ot 202182 =0l &t
O dg2ix Ao
ME=diie 8MOsS0IEZ2 &8AX AS
=g
disE(dnNE) 202049 & H 20218 =& X 202248 =HEX
ASotsdEH 018 Ots2 €0 Hi=
5
== 49% 50% 50%
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MR
O A2 : 0-6MOIS Ol HEr OIS U SH NRO2 ¥RE9 S0P 22
O At |2t 20224901301 ~ 202612831
O 22N : OIS4EY MIF(2Jt S M=) L WX (IS4 NS o L NSH)
O Ol & 9% : 6,011,5008 2
=2NEXZ 4,208,0008 &, 2AE2XZ 541,050, NAMMA 1,262,450& &
O NQUE : 22 X (10082/01/8)

YHAFEHMETIAY HYLE ALY XXl RIS 3 ALY
O
O ARMA (&9 M)
M &g Ol &F MET Sx0f A Hnsz2t SZE
A 6,011,500 6,334,950 AB323,450 | A5.11%
ol AFE 6,011,500 6,334,950 A323,450| A5.11%
28x2 4,208,000 4,434,465 AP26,465| A5.11%
Zougxz 541,050 570,145 A29,095| A5.10%
XA T 1,262,450 1,330,340 AB7,890 | ~A5.10%
O &8 xdl=4
O AHSOHAHXH (&9l + H)
— 20194 20204 20214
H 45,006 64,169 58,504
o A 21,994(48.9%) 31,208(48.6%) 28, 166(48.1%)
o A 23,012(51.1%) 32,961(51.4%) 30,338(51.9%)
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O Areidl Xt (e : )
2= 20194 2020 20214
p] 43,915 63,292 58,204
o 21,451(48.8%) 30,797(48.7%) 28,051(48.2%)
SaE 22,464(51.2%) 32,495(51.3%) 30, 153(51.8%)
#0~6 Al OF S
O olapE ECIEEE)
7= 2019 2020 20214
b 6,203,270 6,327,000 6,334,950
o & 3,030,089(48.8%) 3,078,630(48.7%) 3,053,084 (48.2%)
o o 3,178, 181(51.2%) 3,248,370(51.3%) 3,281,866(51.8%)
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dE3x #UEH
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Ols=Saldl X3 (LESAH)

O MR

O N2 : JIZ43 S HAS JIHY IS5 A0l LALE OHSHH SAS MTot0l A28
HFED

O AZDII2b + 20228012012 ~ 2026E 12831

O 22N : OIS=XNY HIBE

O O & o : 1,193,2568 &
ZABEZ 716,0268 %, KM 477,2308 2

O ANZUWE : BIIE, Y5, BFY OFSSIAH XA (12 12 6,0008)

SHESIHFIANE SEASHIAY XX e H S et
O
O AL2MA (el
M a g Off &F 4 HEC G0 A Hus2 s
Al 1,193,256 930,550 262,706 | 28.23%
Ol &F S | 1,193,256 930,550 262,706 28.23%
ZdA2xS 716,026 523,120 192,906 36.88%
INDSIDA R 477,230 407,430 69,800 | 17.
0 8% 4324
O At TH&a Xt (c+9
- 2 20194 20204 20214
Al 16,872 16,488 15,929
o 4 8,198(48.6%) 7,968(48.3%) 7,698(48.3%)
g 4 8,674(51.4%) 8,520(51.7%) 8,231(51.7%)




O Atg ol Xkt

CERE-)
2 e 2019 2020 20214
o 1,160 1,054 897
o & 526(45.3%) 480(45.5%) 408(45.5%)
S 634(54.7%) 574(54.5%) 489(54.5%)
M AL 0LS
O oarE CEEREED
2 e 20194 20204 20214
yl 864,743 1,142,152 930,550
o & 392, 116(45.3%) 520, 145(45.5%) 423,260(45.5%)
g & 472,626(54.7%) 622,007 (54.5%) 507,290(54.5%)
#2020E DX = Z A, 20212 AN
O d€2AX =24
AR LTRE HHOIS0ID2 SE2AR %S
O du=sH
ANSHE(4DLNE) 20204 & X 20218 =3I X 20224 S EX
OS24 020tS2 HHIZY R|X
45% 46% 47%
(O£ 012X/ T MO0l E Xt)
O &8s Jllsd
A0 PHEE BUOISO S XNVOEZ 0459 AL 2=
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2022E 012012 ~ 2026E 12831
Ots=XE HM37x

192,550& &
= UEXS 154,0408 3, Z29EX= 9,627&8&, NNMME 28,883F &

N FHEAHS ots L It N

CHA AL
=y
M E A ALY YA HIAY XX E H S 3t AL
O
(=5
WAy O &k o HEC oX0a HRZE2 “
H 192,550 156,520 36,030
192,550 156,520 36,030
= 154,040 125,216 28,824
= 9,627 7.826 1,801
28,883 23,478 5,405
M
b |
(29
2019 20204 20214
301 241 251
134(44.5%) 111(46.1%) 120(47.8%)
167(55.5%) 130(53.9%) 131(52.2%)




MALE Al (I OtS

O Mg =0dlXxt (2l - &)
T = 20194 20204 20214
Al 301 241 251
GRS 134(44.5%) 111(46.1%) 120(47.8%)
g 4 167(55.5%) 130(53.9%) 131(52.2%)
KU FHAEANS OIS
O a2 (&2 &)
T 2 20194 20204 20214
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